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Credits: Four

Achievement Achievement with Merit Achievement with Excellence
Analyse inflation using economic 
concepts and models.

Analyse inflation in depth using 
economic concepts and models.

Analyse inflation comprehensively using 
economic concepts and models.

Check that the National Student Number (NSN) on your admission slip is the same as the number at the 
top of this page.

You should attempt ALL the questions in this booklet.

If you need more room for any answer, use the extra space provided at the back of this booklet.

Check that this booklet has pages 2–12 in the correct order and that none of these pages is blank.
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Merit exemplar 2017 

Subject: Economics Standard: 91222 Total score: 16 

Q 
Grade 
score 

Annotation 

1 M6 

The candidate has the potential to gain a merit from both (a) and b(ii) 
though one at this level is enough. In (a) the candidate clearly 
identifies the changes of the correct components of aggregate 
demand (using the correct terms) giving a reason sourced from the 
resource. The graph is also well integrated with AD and price level 
movements identified. In b(ii) the answer is also well explained using 
the key terms of cost of production and profit margins, however, there 
is an error in not linking price changes to profit motives. The answer is 
not an E7 as the candidate does not clearly link the effect on the 
number of firms as the reason for greater movements in price between 
the two scenarios. 

2 M5 

The Merit in this question comes from Q2a. The components of 
aggregate demand; investment and consumption are correctly 
identified using the right terms and linked to changes in aggregate 
demand and price level (using labels). Q2b does not reach a Merit 
level even though they correctly give a reason for the effects on export 
firms and import firms. The candidate needed to predict an outcome 
for both to gain M6. The discussion on savers and borrowers is wrong 
as they discuss the effect of changes in interest rates rather than the 
effect of inflation itself. 

3 M5 

The candidate gains an MS from part b(i) in this question. The 
candidate effectively compares the personal inflation rate being 
created by a particular basket of goods and services whereas the 
average is created by the weighted CPI for the average househo ld. 
The candidate does not gain an M6 as Q3a is incorrect, i.e. an 
increase in nominal wages and deflation would make real wages rise. 
The candidate does not get an E7 as b(ii) compares how the inflation 
rates for the two groups are created not the effects of the inflation 
rates. 

  


